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Subject: What's wrong??

Posted by: SoutheLily

Posted on: 2012/6/6 8:56:27
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1. The bride is much elder than the groom. se—°4 "ae "ee—°é f Z41 és-& +A0SAE,

2. A voyage from London to Paris can be done by train.
a¥iz8€«aee |8 8- €»ZC8,e—...C @e ar¥ape-Ge«e»SAE,

3. She was a coward on the stage, and could not utter a word.
a¥lee€ 4 '87°8, €AEA-—AalY ey «41043,TaE,

4. | made an apology, and tried to have good relationship with my co-workers again after a heated
argument. &ce @ ¢, €¢f ¢S, ¢ -e«—aVAEVaE a8 AsEAOEE € ar-Yoa»¥E Lol B SA¥LHEE,

o 9 -

5. Your estimate of the market is way terribly wrong. 4% 8°+4,,4 "¢$,80aY,°eE a¥s—eE>¢e-eaE,
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